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59 1,240,941 | XBRHR2#x9h 235,189 & 1876.80 | 1871.60
&RYEYT 1,489,129 | XBHRAK Y= 23,519 2 23.59 23.64
SHYsS=— 124,095 | /85T LAF9H 1,172,705 IS5FF 1089.70 | 1090.20
BEY 779,886 | /859 LRK b= 117,271 ] 407.81 400.74
B|RMEYT 935,863 BRERE b 646,654 IR 74.70 74.83
SBRY== 77,989 % Y] S 64,666 INE 727.50 740.25
Rl xRy 493,917 | 3—E—A%9}h 492,297 x= 1485.00 | 148875
R ARy E T 592,700 | a—E—2Fyb== 49,230 a—r 654.25 652.00
FRMRRyFs= 49,392 a7 A%k 859,891 RBHR 3.557 3.895
a—YZRyk 216,296 | 3a7RH Y= 85,990 INSD9L] 1773.60 | 177160
KERRyk 490,941 by 19.56 19.13
aA—VRRYFS= 21,630 a—kt— 148.91 156.24
KERRYFs= 49,095 a7 260100 | 2679.90
INERAR Y 240,512 58 132.24 131.88
INEARYFS= 24,052
ARy 269,644
FRRYS= 26,965
I5FF ARy 720,510
T5FFRRyrs= 72,051




